EARAROBEEIERT — 2 N— IBISH —F

20128118138 (4 15EIF95I48

m 2/ Yo% 2®50ATF ‘ [xE] & ‘ [eErE] - | 4 (&) 10000 FE
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N BRARS 2 :01. — . - HFEE (dtEsE
11111 2L w1 4 2 el 1((!)2 3-3 37.4 1 (4_1?3) EEEFE§§ B8
.- Uy By a-7FN BOR R
PS>, 4 2 | BihE 1:01.5 1-1 381 — 9 432 | AARR (LiEE)
2gf3| B A77*v b 54.0 (1172 Lo | IR
L:7LFFE2T+ BO-X¥+IU— Bk 14505
. > # 2 | RNER 1:01.6 2-2 38.1| — 2 438 | AIISEHE (tEE)
3 6 IV =V 54.0 (3/4) © (#\) 75> F;Eta%
:2v—bR—a B:L—Y2TN—F 55 Kikis
N f o2 | RERH 1:01.6 7-6 37.0| — 3 416 | KR (Gtid)
4|55 TN A= 53.0 () oy | B 75 ks
R:ZZATLAR B4 IH—ZNIL DAY ¢
. NENEFT :02. - . — NFL (deimiE)
5/7|8|7V—>714UX S i 1(032)2 R R ! f; IE\FEW% -
LY IINIF— BiXA2a3y70LX2 N:EEses]
s o | AT 1:02.3 6-7 37.9| — 8 460 | BORE (timd)
617|9|ENLTINTZR 55.0 (3/4) (g) | LAE—EB .
LENTITFANRTE BA—UET M) — Il F*
N . o2 | BREZ 1:02.6 3-4 38.8| — 4 466 | BEBFIAI (LiEE)
7 7 '771“—//\71'3( 55.0 (11/2) (-4) [ R =
Lm-I>yYr BiYvRIzU-—7 BEX &Y K
f = TR BREF : - = Bhiga (i)
8 4| Ea—F1dLE i 2 e 1(.10/22.)7 8-8 38.0 5 (4130) bi] E
R:d—RAMA— B:Ea-F17U—7 AT 7 — L
= 3 4 2 | FLRE 1:02.7 10-9 37.6| — 10 434 | BHRIEZ (dtimE)
91810 LT4AZ—=4 X 54.0 (74%) (o) |HEES .
LT RIA4¥T2E2 B:oox405-T3 B Eth
=S : # 2 | ETHH 1:02.9 9-9 37.9| — 6 400 | RERR (dtimiE)
10/8|11|{BTF KT 53.0 %) g |EAEZ
L:ZFA4d—I K B:aq4vyJrL— BARS
s 2 | A+E&E — - - - - — | 2WUFEAI Gt
*k 2| va fO—L4 * 53.0 ; (F3H) (=) ;ﬁﬂﬁ% .
L—A7o—- B:T7R-IL TS
@ 1 — S —EBlIEf
13—7+—
230—7—
Jol=5r= 3,6,(1,7),8,9,5,4,11,10
43—7+— |3,6,1,(7,8),5,9,4,(10,11)
[ N3
BB 1 210H 714K 1-3 2,930 % E 1-3 6,110MH 3EHE 1-3-6 4,710
8 B 1 1004 1-6 160M B & 1= 6,530M K31 1-3-6 33,230
3 640M 3-6 2,590/ B H 1-3 6,750/
6 110

ABICOVWTRDTEEERROODE. TR LIV,




